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3apaua 12.29.

a=1{1,2,5}, b={6,6,4},
¢={1,0,1}, d = {2,2, -2},
z=([@b],b+c+d)

3apaua 12.30.

a=1{5,34}, b={7,6,1},
¢={1,-51}, d={3,1,-3},
z=([@+b¢2l,c+d)

3apaua 12.31.

a=1{21,4}, b={3,6,0},
¢={1,-2,2}, d={1,1,0},
v=([@+bc+d)],a)

3apaua 12.32.

a={1,6,4}, b={2,7,0},
¢=1{2,0,3}, d = {1,2, -4},
z=([@b],b+c+d)

3apaua 12.33.
a=1{54,6},b={61,0},
g={2,-51}, d = {3,1, -4},
= ([@a+b¢cl,é+d)

3apaua 12.34.

a={4,7,7}, b={7,4,2},
=1{2,-3,3}, d={2,2,-5},
= ([@g+b¢cl,c+d)

3agaua 12.35.
a=1{505,6},b={25 —4},
g=1{2,-3,3}, d={2,3,-3},
= ([@a+b¢cl,é+d)

3agaua 12.36.

a=1{3,2,1}, b={4,7,0},
g={1,-2,3}, d={1,2,0},
(l@+b+cd),a)

X

3agaua 12.37.

a={4,4,6}, b={7,2,2},
g={2,-4,2}, d={3,1,-3},
= ([@a+b¢cl,é+d)

3apaua 12.38.
a=1{53,1}, b={6,4,0},

3apmaua 12.39.
a=1{1,2,6},b={4,2,2},
c={2,-1,1},d = {1,1, -2},
z=(ablb+é+d)

3agaua 12.40.
a=1{1,1,6}, b={4,1,2},
g=1{2,0,3},d={1,2,1},
z=(abl,b+c+d)

Sagaua 12.41.
a=1{1,1,3}, b= {755},
g=1{2,0,2},d={2,2,0},
z=(ablb+é+d)

Samaua 12.42.

a={3,1,4}, b={1,7,-3},
=1{3,-2,2}, d={2,2,0},
v=(a+b+¢cd),a)




Sagaua 12.43.

a={1,7,6}, b={6,5,4},
¢=1{2,1,3},d={3,3,-5},
= ([ab],b+c+d)

3anaua 12.44.
a=1{2,3,7},b={55,2}
{1,-2,2}, d={2,1,-2},

¢

= ([@g+bé+d)],a)

3agaua 12.45.
a=1{5724},b={3,4,-3},
¢=1{2,-5,3}, d={3,1,0},
z=(a+0bc),é+d)

3agaua 12.46.

a=1{53,3}, b={6,6,0},
{3,-4,3}, d={1,2, -1},
z=(a+bc),é+d)

¢

Sagaua 12.47.
a=1{3,7,6},b={2,6 -2},
g=1{2,-2,3}, d= {22, -5},
v=(a+bc+d),a)

3amaua 12.48.

a=1{21,5}, b={1,5-2},
c=1{2,-2,1},d={2,1,—1},
v=(a+bc+d),a)

3agaua 12.49.
a=1{54,5},b={2,5 -4},
g=1{2,-52}, d={1,1,-3},
z=([@+b¢cl,é+d)

3agaua 12.50.

a=1{4,3,7}, b={7,3,2},
¢=1{2,-2,3},d={3,3,—1},
c=(d+b+¢éd),a)

3apaua 12.51.

a={3,1,7}, b= {511},
¢={3,-2,2}, d={1,2,0},
c=(ad+b+¢éd),a)

3apaua 12.52.

a=1{2,7,7}, b={6,2,3},
¢=12,0,3},d={2,3,-5},
v=([@+bc+d],a)

3apaua 12.53.

a=1{524}, b={2,6,—4},
¢=1{3,-52}, d=1{21,-1},
z=([@+b¢cl,é+d)

3apaua 12.54.
a=1{57106}b={22 —4},
c=1{2,-4,1},d={2,2, -7},
z=([@+b¢2l,c+d)

3apaua 12.55.

a=1{1,52}, b={6,7,4},
¢=1{3,0,3},d={1,2,-3},
z=([@b],b+c+d)

3apaua 12.56.

a=1{1,4,3}, b= {533},
g={1,-1,1}, d = {2,1, -4},
z=([@b],b+c+d)
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